
 2 

2.1

 (Cost 

Benefit Analysis)

2.1.1
1)  (Cost of production) 

2)  (Opportunity Cost) 

(Alternative choice) 

3)

-  (Explicit cost) 

- /  (Implicit Cost) 
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 “ ” (Opportunity cost) 

(Opportunity Cost) 

4)

-  (Internal Cost) (Private 

Cost) 

-  (External Cost) 

5)

-  (Private Cost or Internal Cost) 

-  (Social Cost) 

6)

- (Financial Cost) (Accounting Cost) 

(Explicit Cost) 

- (Economics Cost) 

(Explicit Cost and Implicit Cost) 
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( , 2549: 176-194) 

1)

2)

2.1.2  (Short-run Cost Analysis) 

 (Fixed Factor)  (Fixed 

Cost)

 (Variable Factor)  (Variable 

Cost)

 2 

 1)  (Total Cost; TC) 

 (Total Fixed Cost: TFC)  (Total Variable 

Cost; TVC) 
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  TC   =   TFC + TVC 

 (Total Fixed Cost; TFC) 

 (Total Variable Cost; TVC) 

 2)  (Average Total Cost : ATC  AC) 

 (Average Fixed Cost; AFC) (Average 

Variable Cost; AVC)
   

ATC   = =  = 

ATC   =  AFC + AVC 

 (Average Fixed Cost : AFC)  (TFC) 

 TFC 

 Q 

  AFC = 

 (Average Variable Cost : AVC)  (TVC) 

  AVC = 
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3)  (Marginal Cost; MC) 

 MC = TC n  - TCn-1 ; n = 

  MC =  

 (Slope) 

 TC    

  MC  =  Slope  TC 

 TVC 

  MC  =  TVCn -  TVCn-1

         =  

  MC  =  slope  TVC 

2.1.3

( , 2545: 227-229) 
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1)

2)

3)

4)

 Cost minimization  

 Cost Effectiveness 

5)

2.1.4
 4 

1)

2)

3)
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4)

2.1.5  (Project analysis) 
1) (Net Present Value : NPV) 

 (Discount Rate) 

n

t
t

t
n

t
t

t

i

C

i

B
NPV

00 )1()1(

  NPV = 

  Bt =  t 

  Ct =  t 

   i =  (Discount Rate) 

  t =  0,1,2,3, ...n  n 

2)  (Internal Rate of Return: IRR) 

      (Internal rate of Return: IRR) 
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      IRR 

 0 

 IRR (  r) 

IRR  = 
n

t

t

r

B

1
2)1(

-
n

t

t C
r

C

1
02)1(

  = 0 

  IRR = 

r      = IRR ( )

Ct    =  t

C0    =  0 

Bt    =  t 

t     =  1, 2, 3, …, n 

n    = 

 0  (initial investment) 

 ( )

 (NPV)  0 

 (IRR) 

3)  (Benefit – Cost Ratio: B/C Ratio) 

 (Discount Rate) 
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B\C ratio  =
n

t
t

t

n

t
t

t

C
i

C
i

B

1
0

1

)1(

)1(

 B\C ratio  = 

Bt  =  t 

Ct   =  t 

C0   =  0 

i  = 

  t   =  1, 2, 3, …,n 

             n           = 

 0  (initial investment) 

 (Benefit cost ratio: B\C ratio) 

 1  1 

4)  (Payback Period Analysis) 

    

 +  / 

5)  (Investment Decision) 
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 (Opportunity Cost) 

(NPV)  (B/C Ratio)  (IRR) 

-  (NPV) 

 NPV 

 NPV = 0 

-  (IRR)  IRR 

 IRR 

 (IRR) 

 (IRR) 

-  (B/C Ratio) 

 B/C ratio  1 

 6)  (Sensitivity Analysis) 

    

 2  IRR, 

NPV  B\C ratio 
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 - 

 - 

 - 

 - 

 (Total Cost : TC) =  + 

 (benefit)  (total revenue : TR) =  * 

2.2

 (2532) 

 20 ,40  60 

 20  5% 

 5  20 %  12 % 

 600-2400 / /  60  2400 

 9.93  800-1000 / /

60  1000  12.38 

(2539)
 3 

 (8-25 ) (26-40 ) (41 )

 25 (27.79%)  30  (33.33%) 

 35 (38.88%)  

 41  26-40  2.4 

 8-25  6  3 
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 3 

 3 

 18 

 14  15 

 (2541) 

 2,662,010  1.19 

 33

 4  10  10 

 10  10 

 10  4,332,062 

 1.31  1  43 

 15.5  10 

 1,670,052 

 63  0.12 

 10  10  991,968.6 

 1.07  1 

 22 

10  1,670,041 

 63  0.12 

 11  10  1,258,161 

 1.08  1 

 25 

 10  1,258,375 

 47  0.11 

 10  10  3,979,778 

 1.31 1

 44  15.5 

 10 
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 1,317,768  50 

 0.12  11 

 1 

 15.5 

 (2544) 

 10  

 1,040,263.28  16.50 

 1.15 

 35 

 12.40 

 (2547)  

 647,728.24 

1.0275  8.97 

 3 

 2%  491,594.54 

 8.74  1.021 

 3%  335,460.85 

 8.51  1.0144 

 5%  275,311.55 

 8.42  1.0115 

 10%  -92,408.08 

 7.86  0.9962 

 5% 
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 5%  -212,606.25 

 7.68  0.991 

 5%  10%  -

580,325.88  7.11 

 0.9757  10 %  5% 

        -700,524.05 

6.93  0.9698  10% 

 10%   -1,068,243.68 

 6.35  0.9546 

 647,728.24  0 

8.97  1.0275 

 1 


